ERtEI YR—bselectl HFEINDEED WERTX b

1 #HeR . . i

1 A=x2+3xy—2y%, B=2x>—xy—y:D L&, RONXEFHHEL, (%12 Hx2)
(1) A+3B (2) 4(2A—B) —3(3A—2B)
) =243, b=2-J3 D E, RoROEERD k. (12 )
a*b -+ ab?
3 koRO_EMEEIITE, (12 %)
J4+2/3
4 xkoitErel, (%13 1ix 2)
(1) (x+2y—5z)2 2)  (x?—2xy+4y?) (x®+2xy +4y?)
5 komxmgame k. (%13 1ix 2)

(1) a*—a*+16 2) a*—b*+3a+b+2



ERtEI YR—bselectl HFEINDEED WERTX b

2 E8LmE : A

1

1225200 F THOHBEBNEAEZ N L, A, B, C% NSRS ETH, Ald30EHD
FTRCHES, BIE5DMEHDTXCOES, CRTOEHDTRCOELEET L, LS DEH
DEEE n(S) TERT L E, RKOMWIZER L. (%11 #ix2)
(1) n(A4), n(B), n(C) 2ZznTNKD L,

2) n(ANB), n(ANBNC) #xNFNKD L,

Ko [ odiz, TWE] [+4), [LE+S] @b, 5T 0%E AL,

(V) x=113, 22—2x+1=0Tho72HD [ | &HTh5, (%13 #ix 3)

2) ZARD2WLIEL VI LR, ZAEFZEIZARTHEHD [ | KHETH), E=
AR THBI0N [ | &HTH 5,

ROMBEON - B - MEEZR~E, Fio, ZOEMBEHAL, (#£135ix3)
(1) x=27% 6L, x*—4=0

2) 2 nhIEKLLIE, nid3OE

(3 a>02b>0%51F, ab>0



Rt 2

HR—bselectl FHFEINTED MHERBTX b

3

157, 2xniEs

o

3

4

RO 1RXAER, EIAEXZ BT,

1) 4@2x—2)<—(x—1) (2) {5x3(x+2)>0
Tx+1
ZX—T"‘<13
ROFFERZET,
(1) 2x+3=|6—x| (2 3|2x—1|—-5=2x

(3) 3x*—6x—2=0

W DR ERE T T DO FPAZ R D L,
[1—2x|=5

(%14 Hx2)

(%14 Hix 3)

(15 50)

2RBRRR - 2ax+P—4=0D 1 DDFEHx=—1D+ 5, aDEEMDEE KD L, (15 %)



ERtEI YR—bselectl HFEINDEED WERTX b

4 2%EH (1) . A

1 komvicgz k. (%16 £ix 2)
() x#ENZED (—1, 0), (3, 00T, 208 (2, —1) 2B HBRDFREA L K &,
(2) #OHERA x=3T, »D284 (2, —2), (5 4) B HROHERE KD &,

2 ROBEEOBKEE BMEE R L. (%16 24X 2)
1) y=|x—2| (ag£x=Za+1) (2) y=—x*+2x (a=<x=<a+1)
3 komMvi&z §, (%18 11x2)

(1) x+y=2, =20, y20ND & &, x*+y* DEKE L F/IMEEZ KD &,
(2) x+y=1n& %, 22—y Di/AME & 22+ 3xy + 32 DEEKEE KD Lo



ERtEI YR—bselectl HFEINDEED WERTX b

5 2XEEH (2) .

o

1 QKBS y=x 2 F3k DT T LEM y=a+2 RO BRRICH B L E, kOfEE 2 IME

D = Kb Lo
1) 2mTEbS @) #35 (3)

D ROFER, AR,
1 G+2)ax—4H=12—x {x2—4x—6§0

2x*+6x—3>0

3 2KRFFRER 22— ax+a?—4=0122WTC, RDOMHIZES k.,
(1) 20D L BICIETH 272D a DEDHF %2 KeDd &,
2) 1 2DBIZTHIETH 72D a DIEDHIFH % Kb L,

(%14 5x 3)

HEREL TN

(%14 Hix2)

(%15 8% 2)



ERtEI YR—bselectl HFEINDEED WERTX b

6 =ALk (1) ; a

I

Z

1 o=o=1800e s, kxo%RF 2EARERE LT 0 O, %7213 0 O EORIE R £,

(1) sin(?zi/zE (2) cos 0>-% (3) tanfd=—y3
(%12 Fix3)
2 kORI L, (#12 1% 3)
(1) (sin 6+cos )2+ (sin §—cos )2
@) sin @ sin 4
l+coséd 1-—cos 8
(3) sin? @+ (1—tan® @) cos? 4
3 AABCIEBVT, a=/2, B=45, C=105 k&, A, b, cEFKDH L, (14 #0)
4  AABCIBWT, koBfFhH2EE, AABCIRED LS =M, (14 #1)

sin A

COSBZZSinC



ERtEI YR—bselectl HFEINDEED WERTX b

=Aak (2) .

1

2

3

KOZABDHEME 2 KD &, (14 51)
b=2, ¢=5 A=135

HOMDEF K ABCD—EFGH i 8\, AE=1, AD=2, EF=4 Th 5 L &, RDREIZ

2L, . c

(1) L DE, ;UBD, ¥l BE D& % 22K k. R B

(2) cos<£BDE, sinZBDE % # N ZFiLKD L, 1 ] G

(3) ABDE 0fifiz ks k. B g F

(4) =55 ABDE 0ikfix ko> L, 72, A» 5 ABDE I F L2 EffAABDE X b bz K &
TrrE, AKOEZZKD L, (%414 fix 4)
MIC #2900 M EABCDIZ 35\ T, AB=5/3, BC=4/3, A

CD=6, LB=60° THDHLE, WOMWITEZ L, D

(1) ADOESERD X, (#£158%x2)

(2) MU IZABCD D HifE A sk 1,




ERtEI YR—bselectl HFEINDEED WERTX b

8 F—IDRA . A

1 hommsfiz, H5%EOEEONDH Ex Emom) | EROG | (%14 £ix3)
HELTEEDLDTHD, DK A KD K, b ew
(1) FHE (72720, WEETAL T/NEEE I ET) 150 ~ 155 1
(2) gl 155 ~ 160 4
(3) #cHEfE 160 ~ 165 8
165 ~ 170 10
170 ~ 175 5
175 ~ 180 2
7t 30
2 TOBEHL, 20 ADFFEDAT AN (1040 £) O A EFL TN, (%14 £ix 2)

ZOBEEHTONT, ROMWICE 2 X,
7 4 8 5 9 5 6 10 4 7
3 4 6 6 8 6 7 2 5 8
(1) kR X,
(2) AR EZ R D X,

3 2o0%Hx, y DR, KORTHEALATNSEE, FOMWNICELL, (%15 1% 2)

x 6 9 5 3 7
y 8 5 6 9 7

(1) x &y O sw ZROD K,
(2) x &y OMEMRE r 2RO X, 72770, V2=1.41 &L, B2 1TMUE AL T/
BE2frETRO L, F72, x L y [T DIORMHBBERHHEEZLNDD,



ERtEI YR—bselectl HFEINDEED WERTX b

1 #HeER

1 (1 (x243xy—2y) +3 (262 —xy—y?)
=Tx*—5y*

(2) —A+2B
= — (x2+3xy—2y%) +2(2x2—xy—y?)
=3x*— 5xy

2 ab(a+b)=4

3 Var2/3=/3 41 =y3+1

4 (1) x%+4y?+252z2+4xy —10xz —20yz
@) (x*+4y%)2— (2xy)*
=x*+8x%y*+16y* —4x%y*=x*+4x*y*+16y*

5 (1) a*—d*+16=a"+84+16—94
=(a®+4)2— (3a)?
=(a’+3a+4)(a’*—3a+4)

2 a*+3a— (b*—b—2)
=a?+3a— (6—2) (b+1)
=(a—b+2)(a+b+1)



ERtEI YR—bselectl HFEINDEED WERTX b

2 SSLmmE

1 1) n(A)=66, n(B)=40, n(C)=28
2) 15048, 200+-15=134&9 5L,
n(ANB)=13
3X5X7=105 DfEHIE, 200-105=14%1 95 &
N, n(ANBNC)=1

2 1) BE+S
(2) NEIC WEAa, BB

3 (1) x=27%56F, x*—4=0 B
W oxP—4=07 5(F, x=2 1%
Box2 2 5E, x40 1%
HME xP—40 % 51E, x=2 =
@) nHIDEELLIE, nlZ3nfEE B
W w3 OFEE L LT, niz9nEE 14
B o )0REE T LI, nld 30k
T, 1B
A w3 OEE TV HI1E, nid 9 Dk
HThw, E
3) a>02b>07% 51, ab>0
W ab>07%61E, a>05 b>0
B g=S0F4136507%51E, ab=0
ME ab=07% 513, as0F72103 5=0

oz



ERtEI YR—bselectl HFEINDEED WERTX b

3 15FFR. 285ER

1 (1) 8x—8<—x-+1kY, 9x<9
-1, x<1
S5x—3(x+2)=0--- ©)
2
( ) {2x7x2+1<13 ...... @

DLy, x=3, LY, x>-9 k-7,
D, @ILEHPHZ KD D &, x=3

2 (1) 6sxDrx, 2x+3=—(6—x), x=—9
ZHIEAE, x<6DEE, 2x+3=6—x,
x=1 k-7, i x=1

@) xzhorx, 3ex—1)-5=2x, x=2
s<tors, —s-1n-s=2x x=—1
ST, #iF x=2, x:—i—
(3) x=3EY15
3
3 —5=1—2¢=5
—6=—2r=4
—2=x=3

4 x=—1%2fAT5E, a*+2a—3=0 L1,
a=—3,1 k-7, a=—3n& X,
Hbx+5=0 LD, Moz x=—5
a=1nk &, x*—2x—3=0L1, HofiEx
x=3



ERtEI YR—bselectl HFEINDEED WERTX b

4 2R (1) RS

=
1 1) y=alx+1) (x—3) ¥ BT 2.2 —1) #3823 3 ) y=2—-x20k"n, 0=x=2
N, a:%, k-, y=%x2-—%x—1 2ty =a+ 2-2)"=2(x—1)*+2

BRAE4L (x=0, y=2), (x=2, y=0)
BME2 (x=1, y=1)

(2) y=1—-x 25z RA,
c2xt—yi=2x2— (1—x)%=(x+1)2—2
BME -2 (x=-—1, y=2)

s 12+ 3xy +y2=x2+3x(1—x) + (1—x)2

2) y=a(x—=3)*+b BT 5, (2,—-2), (5, 4)
RBBENDT, —2=a+b, 4=4a+b
INERAT, a=2, b=—4
L oTC, y=2x*—12x+14

- _ (. _1\,5
2 ) x2200%, y=x—2 == tati=—(z-1)+3

x<2DEE, y=—x+2 5 1 1
HROBEEELD L, ﬁ*‘ﬁz(ﬁw y=7)
—a+2=(a+1)—2 &1,
a=2

2
as=1DL &,

Bl 2—a(x=a),
£/ —a+1(x=a+1)

1< aé%o)t &,
BAfE 2—a (x=a), B/MEO (x=2)
%< as=2pDk &,

Bkl a—1(x=a+1), BIMEO (x=2)

a>2mL &,

BXfE a—1 (x=a+1), B/l a—2 (x=a)
2 y=—@x—-12*+1

AROBHEEEZLD &,

—a*+2a

=—(a+1)*+2(a+1)

£, a=+

a<dDE &,
BXE —a?+1 (x=a+1),
B/l —a2+2a (x=a)

0Sa<y O &,

BAlE1 (x=1), B/IVME —a’+2a (x=a)
FSa<lor s,

BAlE1 (x=1), B/IVE —a®+1 (x=a+1)
azl Dt &,

BAlE —a2+2a (x=a),
B/MVE —a2+1 (x=a+1)



ERtEI YR—bselectl HFEINDEED WERTX b

5 2REE (2)

1 2—x+3k=x+2 %9,
¥*—=2x+3k—2=0 HHRX%E D L LT,

%:(—1>2—<3k~2):3—3/z
D _

M L=3-3>0 40, k<1

@) 14)—:3—3k:oato, k=1
D _

(3) 7 =3-3k<0L0,k>1

) () ¥ 2x—8=12—x
»¥—x—20=0
(x+4)(x—5=0 Xb,
—4=x=5

@) x*—4x—6=0 k1, 2—/10=x=2+V10
2x2+6x—3>0 L Y,

P BN TN

roT, -_—3;@<x§2+m

3 P—ax+a?—4=0D 2% o, fET B L,
HREBBOBRED, atpf=a, af=a>—14
F72, HHRX D=a"—4(a>—4) =16—3a>
(1) a«>0, >0 k1,

D=16—3a*=0 .'.—Zlgigag%
atp=a>0, af=a>—4>0 LY,
a<—2, 2<a

LlEp b, 2<a§4—?{§

2 a>p &35
i) a>0, =0 5,
at+p=a>0Daf=a*—4=04" a=2
i) a>0, <Ok &,
af=a*—4<0 &Y, —2<a<2
i), i)2HbETC, —2<a=2



ERtEI YR—bselectl HFEINDEED WERTX b

6 =Ak (1) RS

1 1) =60", 120° (2) 0°=@<120°
3) 4=120°

2 (1) H=1+2sindcos §+1—2sin 6 cos =2

._._ sinf(1— cos #) + sin §(1+ cos 6)
@ GA= 1— cos %6

_2sinf_ 2
" sin?f  sin @

7 2
3) &= sin2€+<1~ sin 0)(:0326

cos 26
= sin 20+ cos 20— sin 20 =cos %6

oy V2 b . _
3 A=30 sin 30° ~ sin 45° &9, b=2

AL D, BD=1
AD=/3
LT, e=1+/3

sinA_a

; -2 o —_C —
4 sinA=5p sin C=5p £9 s
W:%i N, ¢2=b* .. b=c¢

Wwzlz, b=c D-EH:L=AT



ERtEI YR—bselectl HFEINDEED WERTX b

7 =Att (2)

1 % 2 - 5sin 135°=%7-

2 (1) DE=Y5, BD=2/5, BE=/I7

@ HoRiBWT, 5 p_ 25 c
ABDE Iz 8T, A

i \/ » >

KEH L), 1

G
cos £BDE E 4 F
_OYEPH(/EP—(/IT _2
2:2/5 - /5 5

2
-7, sin/BDE= 1—(%) :/_g_L

3) ABDE:%-ZE'E-SinLBDEZ«/ﬁ

(4) =fé ABDE DikfE%: V 2§55 &,

_ L. =4
V=4 AABDXAE=7

72, V:%- ABDEXAK 1,

%
4_1, _ 421
5= V2ZIXAK &-T, AK="3

3 (1) FEOAABCIHWNT, AC'=(543)"+
(443)"—2+5/3+4y3+c0s60° =63
AACDIZEBWT, ZD=120°L%Y, AC’ =
AD’+6°—2-AD-6-c0s120° =63 L~ C,
AD’+6AD—27=0 AD>0 kb AD=3

(2) P4 IEABCD
= AABC+ AACD
=5 +5J3-4/3sin60°
+ 1 .6-3-sin120°

2
393
2




ERtEI YR—bselectl HFEINDEED WERTX b

8 F—HDih

T ) meminz » mxz f, ¥ (x—xm| f [G—m)F

FHDOLH K EEDE, W

I+, 167.5—50+-30=165.8 | 1975 —10 4 —40
(2) W fElx, 15 B L16% | 162.5| —5 8 —40
O THE7E, 165~ | 1675 o | 10 | o
170D D23 B £33 H D

EHEIC RS, 165+ (170— | 1725) 5 5 25
165)X 2 =166 177.5| 10 2 20

10
(3) WHEHDRKEWEHRD G 30 —50

Bk A2 DT, 167.5

2 (1) TPHEExETHE, x=(7T+4+8+5+9+5+6+10+4+
7+34+4+6+6+8+6+7+2+5+8) +20=6 ~HkV, FO
$o7a kK E S5,

X |714/8]5]9|5/6[10(4|7|3|/4/6/6|8|6|7|2|5|8|F

(o}

(x—%)°1/4/4/1/9/1/0/16/4/1/9|4|0(0|4|0]1/16/1|4|80

—

Eb, s =80 X 55 =4
(2) s=Ji=2

3 () x=Fx(6+9+5+3+7)=6
y=— X(8+5+6+9+7)=7
Eo T, ST, 59 =1 X{(6—6) X (8—T7)+(9—6) X (5—7)
+(5—6)X(6—7)+(3—6)X(9—7)+(7—6) X (7T—7)}=—2.2
(2) s#=E((6-6)+(9—6)+(5—6)"+(3-6)+(7—6)")=4
=@+ GB—1 "+ 67+ (9— 7'+ (7T —7)}=2
Lo, reg = — o = —0.55/2= —0.7755 = —0.78
TbL, ADHENHLEVZS,



